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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

4-

5.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseeable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and began to take counseling,

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function,

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) verified

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs



Y amio 405E MY oY) cloia! 5000

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) —--ommmee- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—---—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4) in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

In group psychotherapy the therapist works with a small number of patients—often no
more than 5 or 10—to help resolve individual problems. Although a therapist may
have a direct impact on the patients by using many of the methods of individual
psychotherapy, the therapist's primary role is far less direct in group therapy settings.
Most importantly, the therapist must create an environment in which members can
interact openly and confidently with one another by freely disclosing problematic
experiences and exchanging feedback. The group interaction itself—mnot the therapist's
intervention—is thus the medium of treatment. Cohesion of the group is essential.
Other important factors contributing to the effectiveness of group psychotherapy
include mutual emotional support, interpersonal learning through confrontation and
feedback, a safe climate for experimenting with new behaviours, and the realization
that one is not alone in one's difficulties. While group therapy is used to treat a wide
range of psychological problems, it has been especially prevalent in treating addictions
and problems characterized by social-skills deficits. Recovery groups share some of
the therapeutic features of group psychotherapy but differ from it in that they lack a
therapist.
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16-

18-

19-

20-

Chances of successful treatment generally correspond to the degree of the patient's
involvement in the treatment process. This is influenced not only by the intensity of a
patient's distress but also by the level of confidence a patient has in the therapist and
the treatment method. Expectations of help are enhanced by the therapist's ability to
convince patients that he or she understands them intimately and is dedicated to their
welfare. Personal qualities of the therapist are considered important to the
development of a successful therapeutic relationship.

This passage puts emphasis on -----=-=-----

1) a form of therapy helping people to overcome their problems

2) the preference of group therapy to individual one

3) the factors contributing to resolve individual problems

4) the characteristics of a person as a therapist

It’s referred in the passage that in group psychotherapy, the main medium of therapy is

1) the number of patients

2) the group interaction itself

3) the direct therapist’s intervention

4) the place in which patients come together

Interpersonal learning, according to the passage, occurs through ------------- ;
1) experimenting new behaviors in a group

2) being supported emotionally and mentally

3) interactions with others and exchanging feedbacks

4) freely exploring the problematic situations and talking about them

The word “prevalent” in line 13 can be substituted by -------eaa--- .
1) different 2) limited 3) important 4) common
The therapy can be improved better when -------ueeae- .

1) the treatment technique 1s unique to patient

2) the therapist focuses on the patient’s distress

3) patient trusts completely to his therapist

4) welfare dedication is considered for both patient and therapist

PASSAGE 2:

Social justice principles are embedded in the very mission statement of today's social
workers. The National Association of Social Workers Code of Ethics outlines the need
for social workers to promote social justice in their work with others. Social justice is
one of the six main values of the profession.

So, what is social justice in social work, and how does it contribute to the core
mission of social workers? Social justice examples in social work include making sure
the children get equal opportunities, participation in decision making, and that they are
provided with the basic necessities needed to thrive as members of society. By
promoting social justice in social work, social workers also enhance the social welfare
of their underage charges.

Social justice in social work can be a crucial element of a social worker's daily
duties. The principles of social justice are applied in social work with everyone from
the disabled, poor, elderly and children. When social workers engage in social justice
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21-

22-

23-

work with children, they do what they can to make sure the children receive what they
need and are treated like human beings and with respect in the process.

It can be difficult as a social worker to promote social justice in their social work
with children, as their needs and desires can often be overlooked. They must work
hard to make sure their young charges' voices are heard amongst the din of
bureaucratic noise. Working as hard to achieve social justice for children as for adults
1s part of a social worker's professional responsibility.

This passage is mainly about -----=------- :

1) effective strategies used in social justice

2) challenges and benefits of social justice in social work

3) social work and social justice as two separate but important values
4) applying social justice principles in social work with underaged ones
Embedding social justice in social work -----=-=----- .

1) elevates the social welfare for children

2) forms a vigorous relationship between adults and children

3) creates an equal social class for all people in a community

4) gives people opportunity to involve more in their living environment

The word “thrive” in paragraph 2 is closest in meaning to ------------- "
1) support 2) develop 3) follow 4) assess
It’s stated in the passage that children ------------- :

1) are considered the most important members in a community

2) are informed of their social rights by social workers

3) aren’t usually treated with respect in the society

4) should be provided with professional responsibilities

All of the following, according to the passage, are true EXCEPT ------------- 3
1) children deserve equal social rights like adults

2) social justice aims to enhance six core values in a society

3) social work tries to help vulnerable people facilitate their life

4) It’s a difficult task to implement social justice with children

PASSAGE 3:

One of the most important skills necessary for becoming an effective social worker is
self-awareness. Self-awareness starts with getting to know yourself and requires
clarifying one's own values and assumptions. Every day we are learning and changing
as a result of our experiences, therefore self-awareness is a lifelong process that cannot
be acquired through education and readings alone. This process requires understanding
of past experiences and reflecting on the impacts of those experiences in relation to
your world view and view of yourself. People who practice self-awareness can
recognize, understand, and regulate their emotions. Self-awareness allows individuals
to maximize their strengths by acknowledging their weaknesses. By recognizing areas
of both strength and weakness, self-aware people can take proactive steps to manage
their weakness and avoid setbacks.

Competence is essential in the social work world as there are numerous treatment
approaches and intervention strategies available for clients. That being said, it is
impossible for a social worker to be competent in every intervention strategy or
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26-

27-

29-

30-

treatment option. Social workers are expected to be knowledgeable in areas and
intervention strategies they will be utilizing with their clients. According to Sheafor
and Horejsi (2000), generalist practice social workers need to be prepared to treat a
diverse population of clients, which requires knowledge in a variety of assessment and
intervention techniques.

Effective social workers can identify personal values, political beliefs and
assumptions but also are willing to develop knowledge of other cultures through
formal education and interaction. Professional development allows social workers to
develop skills that will enable them to implement successful interventions. Cultural
competence is also an area that should be considered when determining effectiveness.
All social workers should continually seek cultural knowledge; through education and
direct interaction. Culture is an area that is constantly changing and social workers
should be prepared to engage in life-long learning in order to seek competence.

The author of this passage -------------

1) describes two skills being neceqsary for a social worker

2) illustrates all critical elements in the area of social work

3) determines the social workers” values and assumptions

4) clarifies the challenges to which a social worker faces
Recognizing the deficiencies makes self-aware people ------------- :
1) adopt specific roles

2) increase their strengths

3) rely more on their powers

4) recognize, understand, and regulate their emotions

To obtain competence, social workers should ---------- ‘

1) acquire formal education

2) determine the scope of culture

3) be involved in a life-long learning

4) be specialist in numerous approaches

Which one, based on information given in the passage, is a unique characteristic of culture?

1) constant rules of conduct 2) its comprehensiveness

3) its instinctiveness 4) persistent alteration

The word “utilizing” in paragraph 2 means ------------- )

1) counseling 2) enhancing 3) preparing 4) applying
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